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a) Look at the data on the right. What impression does it give its
readers?

You might be thinking that the graph on the right shows The
Times makes double the sales of The Daily Telegraph. But take a
closer look at the scale and you’ll see although The Times does

make more sales, it’s only beating the competition by about
10%.
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Stanley Park. The bar for Stanley Park is much longer thon
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Canada Place. The bars look like they ll have about the

e length, making it appear that each place is equally
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Over 100 Million Now Receiving Federal
Welfare
240 PM, ALJG 8, 2012 - BY DANEL MALFER [
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& naw char sal 1o ba released latar today by the Republican side of the Sanate Budget Committea
dedals a starting statistic: “0wer 100 Milion People in U5, Now Receiving Some Form Cf Federal
Weltare.”

Owver 100 Million People In ULS. Now Receiving Some
Form Of Federal Welfare
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This graph makes our welfare problem look like it’s spiraling out of control. But note where the y-axis starts...at 94 million!
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If you really want to make a shocking statement, make sure you only include part of the data. Take this first example of

a misleading graph that proves global warming is real

Global Warming out of Control!
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Figure 2

Average monthly remperature in New Haven, T2

fmage: Yale University



gr 8 u7 dm day 3 mis represented data day 2.notebook December 09, 2019

"M not sure what

e anti-itch cream, Lanacane.

to say about this graph for t

' CLINICAL PREFERENCE STUDY OF

ITCH RELIEF

DIRECT ACTION ON ITCH NERVES

t looks like lanacane works better than regular anti-itch cream, right? Note the lack of labels. What is this graph
actually telling us? Pretty much nothing at all other than their statisticians are very good at making not-very-good
graphs.
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What is wrong here? (Pie charts should add to 100%)
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Improper Scaling Regqular Comparison
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MNote how in the improperly scaled pictogram bar graph, t

£

-
=

T=P=0=®

=

e image for B is actually 9 times larger than A
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Extra Practice 1

Lesson 7.1: Choosing an Appropriate Graph

1. Each graph below shows the instrument choice for the 2007 Grade 8 Kitsilano Band Program.

Instrument Choice 2007

N
n

Instrument Choice 2007

12 20 Clarinet
]
3 13% Trumpet
R 20%
s 10
= 10 Flute
2 16%
3 o Saxophone
0 15%
&
& Trombone
< 18%
’ Percussion

18%

a) List 2 things you know from the bar graph.

b) List 2 things you know from the circle graph.

c) What are some advantages and disadvantages of the bar graph?
d) What are some advantages and disadvantages of the circle graph?
e) Could you use a line graph to display this data? Explain.

2. Here is the enrolment data for the Grade 8 Kitsilano Band Program for 2002—2007.

Band Program Enrolment
Year Number of Students
2002 56
2003 60
2004 61
2005 72
2006 80
2007 96

a) Graph these data. Justify your choice of graph.
b) What other types of graph could you use to display the data?
c) Could you use a circle graph to display the data? Why or why not?
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Lesson 7.2: Misrepresenting Data

Mountain Clear Bottle Cost

LT 1 [ ]

2003 2004 2005 2006 2007

Year

a) How do the graphs misrepresent the data?
b) What features of the graphs make it seem that the cost of a bottle of water from
H20 water company is lower than for Mountain Clear water company?
c) What features of the graphs make it seem that the cost of a bottle of water from
Mountain Clear water company has risen more rapidly than for H20 water company?
d) Which company is more likely to have created these graphs?

First Place Finishes
House Number of Firsts
Black 25

Red 20
Green 18
Yellow 15

| Cost of a 25-L Bottle ($)
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a) The Black house wants to show they won by a lot.

b) The Yellow house wants to show that each house had about the same number
of first place finishes.

c) The Green house wants to make it look like they won.

1. These graphs show the cost of a 25-L bottle of water from two suppliers over the past 5 years.

H20 Bottle Cost

2003 2004 2005 2006 2007

Year

2. Here are the numbers of first place finishes for last year’s sports day at Wewonnawin
Elementary. Draw a graph to show how these data can be displayed in each way.
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